BINAS-17 O

A

. Class ‘_)}'] stpdcn!. M

ahi visits the bank for

Yo ) ol
the first time along with her father, She
observes that father is issued with a small

book which her father tel) that it is

a cheque
book. She opens i

and finds some pre-
on it. Some of the

(A) BAR Code

(B) Qr Code
(©) Micr Code

D) omMmr Code
(E) Question not attempted

W9%rt§mtnaam
S

If 20% of 500 is e

qual to x% of 400, Then
value of x is .

atE 500 & 20%,
FUH T &7
(A) 24

©€) 26

400%;%%31@1%%1“

(B 25
D) 23
(E) " Question not attempted / $iafta gy

Pﬂge 2 0[‘32

s

Consider the Excel fOEr.nu_la "

Sheet - h'm

fedr m Excel $fi2 % fig Exce] ity |

Bf% 1
A|B|C|D 1

1160 | Al|75] al
2|70 A2| 70| A2
3190 | A3 (90| A3

What will be the output ip

columnn%
WSﬁwﬁfﬁﬁ‘rﬁ%ﬁm? 1
T o~ Fo |
@) T M T |
T F
© T D) F
© 3 D) - ]

F
(E)  Question not attempted / Rt

LCD Panels or flat

panel display g
Ploperty of ‘
(A)  Thicknegs (B) Light
©) Size (D) Fiter
E)  Questig

1 N0t attempteq
LCD

W Yy BN S
BT B ¥
@) g ®)
o S D) W
©) oo g
js\t:rt\s-vm" i homogenous structur

ith index number.
Eé) chtlonary, %10 (B)  Array, z¢
) Array,. One (D)  Strings, 0
Uestion no altempted

8 U8 B g, W%ﬁ‘—“

(A

(C) Y e ®) o, =

(f')) x D) fgw,
%QQ:[ “ oy

Join Te‘#‘egram

[CF



https://telegram.me/resultrajasthan

Join Telegram 


€ diff,
e Creng components which make

ro 1
N the sm Cessor have (o be condensed to fit
) 5 art Phone, | is known as
5 (B) 5 CMory g, a chip
.(C) Sr0ccssor on a chip
& (D) Ystem op 4 chip
% &) Touch. on a chip
: S;estnon not attempted
TR T X gy vt e a1 o

%M Y
ammmgﬁhﬁwa%MWW@

(© %Eqaﬁﬁqﬁm
(D) T 1 T g
(E)  orafa wew

In LAN, connectivity can be created using

Wi-Fi, or cables.
(A) Radio (B) Mobile
(C) Ethernet (D) TV

- (E) Question not attempted

LAN ¥ Wi-Fi, a1 __ %9d @ A9E q
g w@iua fmar s g )

(A) e (B) g

(C) 3uTE D) TV

(E) ergata@ 9o

converts the analogue voice signals into

Ei—g‘izal and then transmitting them over the

proadband line.

(a) VOIP
£ (B Chatting
- (©) Website )
& (D) Video conferencing
E) Question not attempted
= ( amar faa & fefirea o ggear
i% %/a;s%@ak%trﬂmiaﬁﬁm%u
1 Ay VOIP
% ¥ (B) A

©)

10

11
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e.
o filemod
Each file can be accessed through @

These file modes decide what action C.an:r)j
performed in the file, If the file mode ISfthe
then we canonly - the contents O

file.

(A) write (B) delete

(C) overwrite (D) read

(E) Question not attempted

WO BT FY iz A g st e 5
awar ¥ 9 wrza frs Pt s & 6 S
it & B fre a1 At wEd WS <r
B @ T T e ) w %
(A) fra :i‘(B) e

© yw@aw (D) T v

(E) orgafa wev

The instructions (;if'sdata fetched from the
memory, is stored.in the to decode
and execute.

FER & wrt srer A B H Fufed e
& R8 gpearaw (feeis) B afoms @ gamEr
S

(A). MDR (B) PC

(C) ROM 0 (D) MAR

(E)  Question not attempted / ARG weq
In mesh topology, the requirement
of wires for *n” number of compu
calculated using the' formula

Aar A 3, 0 e 3 Rt o o
aﬁamaﬁm\ﬁ}maﬁm

of number
ters can be

@l

(A) ~—'~——”+(;l—l) (B) "\*(;’;1)
14 (n+1

© 20 ) nrroh)

(E) Question not attempted / ERGIE 9

[ Contq.__



12 The button of lh.c mouse is usc:l(:];;)
display a menu list of dll‘lcr.cnl comm: '
related to the selected graphic component.

Right

Left

(A)  Centre (B)
(©) Diode (D)
(E)  Question not attempted
e
o T §
REERC R
ST R
(A) weg
©) =rie

E)  sfa gy

iy ‘STATIONARY®
"TATSOIYRAN’ firegy
7 ‘ADVANTAGES’
(A) AVDANSESGA &

(B) SEGATNAV
(C)~ DV

ind the missing term -
ST T B T gy

3,4, 12, — 196, 1005
(A) 60
(C) 35

(E) Question not attempeq

IS Which amongst the ]|

engine?

T F B a1 g
(A)
“(B).
(9}

. (D’)
(E)

23INAS-1 |

9T T 37
duckd uckgo.com
bing.com

yahoo.com

www

Question not attempted

O

Tt R sy W T g
B ¥, ¥, B el a3 e fa

(B) =g
(D) gt

B) 45 »
(D) 80

wing is not

16

18

19

! STy 09

a Searchy

/el gy

() e

In a Data Entry gﬁlcf?, the ,
are on 1% and 4™ flog,
connected three LAN. Hoy,
take time to trave], yy o
following hardware ca
transmission?
(A) Repeater
(®) Comp.utcr D e
(E) Question not at.tempted
Tl s T ¥ S g

U B Rl (W) a3 gy
U AT Hhell 7

nim

€) ez
(E) srafa yom

Identify the wrong number jp, the
& : :

(B) 82
(D) 65
Question not attempted / g

Identify the men
add a table in g

NRE
T ¥
(A) Insert

Page

u tab of MS-Wor
document
A AR () Wt b
AT R S &7
(B) File
(D) Add
(E) Question pot attempted / 313t

Which amongst the following is o
10 protect the system from malwa
(A) irewa]] Protection B
(B) Void using the public Wi
©) Ty Ing a regylar backup
(D) Pening the pop-ups

(E) Uestion not attempted

Freht firee o e 2 €

Waﬁw;@r‘%?

RARESLG ¢ S
T Wi-Fi % i @ 701
ﬁ’#ﬁwﬁwwwéﬂ
‘ﬁm@wﬁ@w
e

(B)
©
(D)
(E)





21

23

§23INAS~1 ] @)

¢

B

D MSB

[90X15“12><20+1}

2.1 _

[70><8+11><5] T2 ’
4) 2 B) 0
© 3 D) 1

(E) Question not attempted / STTART We

Dot matrix printers are also known as serial

printers. They print one at a time.
(A) Page (B) Character
(C) Line (D) Word

(E)  Question not attempted .
iz Afyam fier @ Dfaw fie % w9 & s

T ¥ qE T XA TH T (Ri2)
EXGIS '
(A) = (B) &
(C) wmg [ (D) 9=
(E) organd 9
1,13,33 9
. 3§+15+34 / |
19
(A) 7%9- : ®) 6¢
17 19
© T3 » >3

(E) Question not attempted / STFART e

The right most bit of the Binary numbers is

%mm.m,ﬁm—mﬁeﬁtmm%

P

LS.'B» ' (B) MBB
(A) (D) LBB

(E) Question not attempted / ARG weH
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24 Round robin is a method O] e

scheduling. G
( Non-Preemptive Schedu e
?%?: Both Breemptive and Non-Pr?emr{I)on-
(C), Neither Preemptive no

* Preemptive .
(D) Preemptive Scheduling
(E)
TS W TH

Question not attcmpﬁtcd
FALE]

(A) & & emfugpd B

(B)

d ,
(C) T gE et o # gE AP
(D) @3
(E)

25 IDE stands for Integrated Development
(A) En;/ironment (B) Evolution

(C) Educational (D) Enterprises
- (E) Question not attemptedh

IDE &1 &1k ¥ — $20es 3g@uHe
(A) FTEEAE (B) =dme

(C) uephym (D) dewEd

(E) organa wed

26 On dividing binary number by 11,
the output is 10. Identify the correct option.
fiamemdr st H 11 § 91 9 9T,
amsege 10 Brar ¥ T2 faweq @ wwE |
(A) 011 (B) 110
(©) 101 (D) 111
(E) Question not attempted / SqaRd W

27 is a networking device that extracts
the destination address from the data packet
and searches for the destination to send the
packet. It sends the signals to only selected
device.

(A) Server
(C) Hub
(E)

(B) Switch
‘ (D) Wires
Question not attempted

TF Al Sud ¥ A videw 9 #y

(A) wdT,
€) = (D) R (arR)
(E) orgaia wew

_



Ry
cing the data 1n a software S0
‘Oreant . : N

28 All the information on the internet is passed | 30 Or", formation 15 relaflve t.o multip|e §
Using switching method. the 1n h method.” Which are the
(A) " Packers (B)  Pouch using a seare f the software thys . -
(C) Primary (D) Portable - important features Of t ey
(E Question not attempted e data. Identify the begt Optioy.

Ty i fafr w1 to filter the |

% o ¥ L O e e ey
(©)  urafrg (D) wraw (garemn) ﬁﬁﬁq—;{%ﬁﬁﬁ'@iﬁﬁ%
) srafa ge e faft 3 ST T

29 Given below is g question followed by two Fuerey & 6| gﬁ v\ N i
Statements [ ang 1. Redrward @ & W ST B Bled § weg B
You have tq decide whether the data, provided ? . \
In the Statement, is/are sufficient to answer IqgerRT feraed ﬂﬁ
the question, » Word, Find v~
Question : (4) i t, Selection
Find the cost of fencing a rectangle at the rate (B) querPon.l ;
gf 10 per metre, (C) Access, Find

tatement ; uery -
The Length of the rectangle is 30 m. (D) cheS.S, Query d ¢
II. " The Breadth of the rectangle is twice (E) Question not attempte SRR
of'its length, *

Answer -

(A If data in statement | alone is sufficient | 31

The preprocessors in C are defined Wi
to answer the question.

. character.
(B) If data in both the statements I & 11 e o
together are necessary to answer the C & fi—RRR At _ &I it
question. feran s %
(C) If data in both the statements [ & |g !
together are not sufficient to answer the (A # @B
question, | ” © $; D) /
; I . ient _
s g iits\;grstﬁgegir;tﬁo;one B (E)  Question not attempted / arafia %
(E)  Question not attempted £
STThT "ﬁ% Th 997 3 T4 q1g 'c('}éﬁiﬁ'?ﬁ Ig_ﬂ"{ I (@ Unscramble the letters in the words giv
IS 0 ¥ | 19 75 7 e g T e below and fing the odd one out
AT STT 99 BT I & % o1 vt & oy =y 7 ot _ out,
A %ﬁﬁﬂﬁs@%mﬁaﬁmﬁme
w@gﬁ%@ﬁmma’nﬁm@ﬂf?loﬁ meﬁﬁéﬁmsmwwﬁﬁ
TLH o ?«‘gli}’lql 7
;ﬁ%-: ‘ : %P)E’ LINCEP, RERASE, k0RO, LALB
I o oY g 30 Hrex ¥ RERA (B) LALB
II. %ama Bl TISTE g & S R ©) NpE (D) LINCEP
?g; a—ﬁ; &ad He 11 %VJT AT ST 9§ oy E) Question not attempted / arna W
& & T Fu 1 ey g | 33 l
(B). %ﬁ%?ggm m?%%n ( 1111»-1000101101001)2 =(___ )i
e Choose the :
(C)  aft @y 1 iR 11 4 & R =rey, o & correct option -
. TAT A % fru yatyg w8 ¥ , -
(D) gma%mlwmqﬁaﬂméﬁ% (A) 2E159 B) 3F158
i & | ' C)
E we L 3F 16, @) 2E158
( ) \’ﬂ?ﬁ—a (E) . ¢
‘ Question 10t attempted / sgafid ;
23INAS-11 O Page 6 of 3, :
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When 4 user initiates multiple process to

the computer then the computer follows |

FIFO method. The expansion of FIFO is
(A)  First In First Out

(B)  Figure In Figure Out

(C)  Flash In Flash Out

(D)  Formula In Formula Out

(E)  Question not attempted

¥ UH SudnThat seed ¥ 9g WhRAT eiw
B & @ dgex FIFO &1 aued &l 2|
(AL € 3 & amee

(B) T g femx amee

(©) w91 3w e

(D) wren 39 wrar aree

(E) orgafa us '

On March 17, 2023 Chief Minister of
Rajasthan announced the creation of
19 new Districts and 3 new Divisions. Which
of the following is not a new Division?
(A) Dungarpur (B) Banswara

(C) Pali. (D) Sikar

(E) Question not attempted

17 @, 2023 @Y, IERAT & HEIHS 7,
19 faet afiX diiF T @Sl & T & Jwen S|
frfafad & § & 91 T4 @S T8 87

(A) FTY (B) sfwarer
(C) (D) €T
(E) orgafta usd

Out of the following topologies which is the
Jeast secured and reliable?

(A) Star (B) Tree
(C) Bus (D) Mesh
(E) Question not attempted

fpe wftafy R (Jren) § @ ga9 &m
grfaqﬁqafamfﬁw%?

(A) 'R (B) &
(C) ¥ (D) @
(E) S SIRG RS

Nas-11 O

37
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- (C) Ravi

Web based IDE’s are used, to. de:{elop "
) : " -/g'an example

interactive websites.
of web based IDE.

(A) Ruby

(B) | Python

(C) HTML

(D) Microsoft Visual Studio Code
(E) Question not attempted

3 e IDE @1 i T ST JaEse
P Rl & % frg R s 2

39 smuiia IDE & U, 3aeX 81

(Ay =

(B) dIEHi

(C) HTML

(D) wEHmETe g @%?f( CAS

(E) ergaid wed '

Ravi and Kunal are good in Hockey and
Volleyball. Sachin and Ravi are good in
Hockey and Baseball. Gaurav and Kunal are
good in Cricket and Volleyball. Sachin,
Gaurav and Mohan are good in Football and
Baseball.

Who is good in Baseball, Cricket, Volleyball
and Football?
(A) Kunal (B) Gaurav

(D) Sachin

(E) Question not attempted

T &R PO el X avelianet & ored ¥ girs
it T e SR JwE ¥ ored ¥ i it
el fpehe SR areiaTe § ol ¥ ) ghm, Wiy
3R He geaid oY Seara ¥ ored ¥
sudid, fnhe, AT oiX peaiw F @
3e|T T 7 -

(A) T (B) Tra
(€) (D) wRm
(E) agafa wew -

: [ Contd...
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Soham h
topic G2
and y ¢

as created o word document on the
0. He has written text matter, images
able containing, (he list of countries
iili(l the dignitaries who visited India during
120 Summiy, 14 friend tells him about a
term of computer (which is penerally used

l?y the printers, e term is WYSIWYG. The
Wl form of it

is
(A) Wha You See is what you Get
(B)  Whay You Simplify is what you
Generate
(€)  Why youA Sc‘nd is what you Generate
(D) What You Set-is what you Get
(E) " Question not af‘ttcmptcd
8T 4 G20 Ry

W UF 9¢ siagiz )
Gaﬁsle,%aammﬁvﬁﬁiﬁmoﬂaam
W—W%aﬁéa@ﬁmﬁf%wmﬁam
mﬁawmﬁwammﬁawﬁﬁ
amm%a‘rmﬁ‘:r:wfﬁammaﬁm
S, S WYSIWYG ¥l o
A = & w2 g

B) = g femdie o1 2w 7 9
(C) mqﬂswmqﬁﬂh

(D) = g ¥ 7w g

(E) Gﬂ?{ﬁagfﬂ,/;

Which option can.replace ‘? from given

relation? 3
%ﬁ&n&uawﬁuﬁmﬁm%wﬁww
AT 7 '

FAN : IDQ :: SAT: 7

(A) WDX L (B) UDV

(€). VDW (D) TDU

(E) Question not attempted / sipafia yys

“Board Examinallon:

) \
Page § 32

shows the datq of the
yeared and qualify,
5. }9;1 udy (’ g & 1&{;'01)/1 care;ﬁ
» questions Jrom (Y. Nog 4,y
A, gper o BTl 3 AT (67T 7} m#%ﬁ
sl g £, 9 4T 81717 31 S
ot & et AfTg 1 (13T FE 41 - 44)

The given graph

s,
.
five schools who apl

t [} Appeared [ Qualifigy
3500 .
------------ S
3000 [‘ --------------------- B
2500 == 4iit==="" Y G
TR ER |
2000 =-fif ===~ [ AT

1500 -+

NUMBER OF STUDENTS ——»

1000 -+

AR S SOOI

500

0

K]

R)

: '
H i
. 2 ",
. 344 b g
H Rpee i
H 3 )
vy Res 4
B g ass [ ss. .
S HH Rpee )
SHH Hpuss X)
' [eaee W

SCHOOLS —p  °©
41  Find out the total number of students

the schools who could not qualify the|

i e ﬂ
Y B

T el & Ty e 3T f
(A) 4500 ‘ (B) 4750
©) 3750 < (D) 4250

(E) Questiorijﬁibt attempted / 3ttt

42 Find oyt the Ratio of the number of sty
appeared in schoo] A to school B.

gAeﬁTB%‘TﬁwﬁwﬁW@qwm
| LI

(A) 2.3 .

C€) 4:3 o) 33

.= (D) 3:4 -
4 (l?l) Questlonjnot attempted / sryafi!
3 Find Out the ratio of the percentage of st
%s%egé{n S¢hool E and school D.

9 et et E ity e D
o8 ST S
& s:6 (B) 6:5
G 2 (D) 4:5

Questiorf not attempted / e’

A o , i ;
'80‘1/19 mgt_percemage of passed students’
- SChoo|g ;se;jpproxin1atcly -

@__ Wmﬁvﬁu‘rwaﬁﬂﬂﬁ

44

(A) 6505 ’
gl() 70% fg; 22‘2 ot
) Question npy attempted / |

(o
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A child has to cross road and reach the school
Opposite to his house. The child looks on
right and left before crossing the road. On
observing that no vehicle is coming, he
crosses the road and reaches school. What
action of a]gbrithm is represented by the
child in the above situation?

(A) Output

(B) Selection

(C) Repetition ]

(D) Input

(E) Question not atteinpted

U o1 319 8% 6 Rl Rud whe s % fg
F$& IR BIAT ATEAT | FEAl WS IR B &
T S o qan o o war ¥1 9w o T T
W AR M T TE, I8 @SB UK HY K@
g S 1 swien Refy # @ % A R
HR F ThE WenTT & TErEiiie™ & ga fear s
57 -

(A) omeege (Frfak

B g -

© gy,
(Dx 92 (arm ). o
55)( oAyt )

is an example of analog signal and

is an example of digital signal,

rexpectively. s

(A) Scanning, smell-]

(B) Smell, speech "~

(C) Word document;-speech

(D) Smell, scanning

(E) Question not attempted
qgyl e @1 Uh TEET ¥ o

 fefsrea fare @1 aE ¥

(A) wHaEIEoT, 7Y

(B) 7y, amEd 2

(C) @ siagdez, arad

[(9)% e, HHGIA

(E) ergaf e

47
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. b
You are given below a question followed bY

two statements | and II. .ded

You have to decide whether the data prov!

in the statement is/are sufficient to answer

the question.

Question : ,

Find the surface area of a_cuboid-

Statement :

I.  The sum of the length, the breadth and
the depth of a cuboid is 20 cm-

" II.  Diagonal of the cuboid is 5./5 cm.

Answer - . -
(A) If data in statement Il alone 1s sufficien
to answer the question.

(B) If data in both the statements I & 11
together are necessary to answer the
question.

(C) If data in both the statements I & I
together are not sufficient to answer
the question. :

(D) Ifdata in statement I alone is sufficient

to answer the question.
(E) Question not-attempted
S A UH He K SEH 9% & B 1 o
Il g g | eueht @ 99 & B fh e
# fean T STeT Wed @ SO 39 % fog yata
a1 e 7 o
TS ¢
Teh g bl YOG &S AT €T ?
FM
I o & @, 9188 ok S @7 o
20 gL 1o
L = @t Rt 5.5 ¥ ¥
I T - )
s Fa 113 fan mar ster oy wow

(A)

(B), aft w9 &1 I I & forg e |

(C) uﬁzﬁmlaﬂ'{'ﬂﬁﬁﬁﬁ[m’gsﬁm
ST W F fr vt T

(D) qﬁmmmlmmgg—,‘m :
% forq e &) T

(E)

argala we

[ Cong...



. 5 3 = 750, the averape .
Myopia is another name for which defect? | 50 I 154 + 15b erage of g,

(A)  Short - Sightedness will be - )

(B)  Colour - Blindness afz 15a + 156 = 750, @ a g 3,
(C)  Haemophilia (e

(D) Long - Sightedness (A) 45 ,(_B)" 25

(E)  Question not attempted (C) 15 (D) 30
T, frg Q ;ﬂqiﬂﬁ qm g7 (E) Question not attcmptcdﬂ%
A) fre - ghe

(B)  quiiery 51 Identify the diagram and write the ty
(©)  Erimiferar conversion the system is performiny
D) <Y e Ay

(E)  ergafita wew

49 Representation of data in a graphical manner
Is an important feature of Excel. Identify it,
Also give the name of the component
depicted below -

f(s) : —_ Convgrter —— 0100
10 —
£ .=l H H M (A) Digital to Digital
A B C ‘@n Analog to Digital
(©) Analog to Analog
(A) Image, Column (D) Digital to Analog
(B)  Graph, Bar (E)  Question not attempted
§ie Smaph, Citumn R i Tt e Rt s et Rz

(D) Image, Bar
(E) Question not attempted
%ﬁ%aﬁwéaﬁmmmlixcc]mg@
91 21 38 EAH adn fag § e R e gy
feg M % g fomar wimar &7

T BT qEET B Ty T —

13 RERE
o0 SEEE
10 —
" H I [Zl —_ oftads | —— 01001
A B C
(A) fad, @iy (A) fifirew & fofrea
(B) s, < (B) argeg @ fafirea
(C) urs, @4 (C) srgEw @ argey
(D) fu=, @€ (D) fefirea @ orgev
(E) orgeifd e (E)  srqaft e
23INAS-1] O Page 10 of 35 [ Cont
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53

1

Write in ascending order

(.01)3, 0.0011, 0012, -1.0, 0.15

Which numbcr comes in the last?

& T gl @ emdd g # e ofr wa
HifeT & @i O den 8id A i ?

(.01)3, 0.0011, .0012, —1.0, 0.15
(A) .0012 (B) 0.15
(©) -l1.0. (D) (.01

(E) Questlon not attempted / SR g9

IPSEC, IP Encapsulation and Tunneling are

the technologies used in only.
(A) TCP (B) VPN
(C) Internet (D) Intranet

(E) Question not attempted"
IPSEC, IP wfiriesor dor ZAfe Tel dohiis

g, T wam # B

(A) TCP (B) VPN

(©)r TR (D) e

(E) orgaia ued

Netbeans have visual components to drag
and drop front end components is

an example of it.

(A) Plug ins (B) Radio buttons
(C) Keypad (D) Debugger

(E) Question not attempted

%zzﬁmﬂgsumﬁ%%vﬁggg_m_%ﬁ

e B Yt Bed B e HLAE
@ T% IAELT ¢ |

(A) <A (B) %%u‘f—aﬂ
(C) @i (D) =T
(E) ergait 9e7 *

An optical mouse has a light emlttmg, y device
known as

(A) Triode (B) Diode

(C) Bulb (D) Switch

(E) Question not attempted.

a7 & fod el S £

(A) ZmEE (R wEs

(C) = (D), wha

(E) egaita ue '
23INAS-1 ] O
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data

All the search engines use ____—— data

where the data is generated from the
itself, such as logical database designs-
(A) Non-operational (B) Meta

(C) None of these (D) Opcraﬁonal
(E) Question not attempted

g gd gom s aruAn FTr & T
STz @ e A & S i ST
(A) erafpaTE® (B), 2

(C) T & 3 7@ (D) wiFAED

(E) erafa wed

Find the missing figure in the diagram given
below.

frer & Q orema Fasr s il

(A)

(E)

In a Word document, Simrat has to display
the list of online sites which can further be
used by a student for preparing a research
paper on, “The Effect of Social Media on
the behaviour. of Students.” Which feature
of word is the best suitable to prepare the
list?

(A) Bullets

Question not attempted A SSIEGIER

(B) Numbering

(C) Graph (D) - Linking

(E) Question not attempted

we q¢ sEgEe ¥, fra @ et a9

ﬁﬁwﬁhm%,%@aﬁﬁw“m.
‘gl % EaeR W EW i @ wwe ey

¥ glter U QAN HE & R Sugnt s ) 5

?ﬁﬁaﬁaﬂﬂmﬁiﬁqaéqﬁmm%ﬁw

Uy ¢ ¢

Ay gueH

(C) WH <

(B)  erqaia wsA

(B) e
(D), feifemm
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59

How many layers are there in OS] Model?

il | 62 An L{nau.thorised real time interception ¢
OSI dfset & fray dwe &7 glomtormg of private communicatio
(é)a i ®) 4 cjltlvevgfn two entities over a network
(C) o6 (D) 3 (A) Snooping
(E)  Question not attempted / arafia wsw Eg 5?:,:!%
(D) Eavesdropping
. ) ) E) Question not attempted
60 If ‘TELEPHONE® j ( N i .
‘FOPIQFMFU” in ;cen;isn C CdOdte a's - R A e i
ode. How is e e K e
‘MYSORE’ written in that code? HeT @ & - o : o <
aft ‘TELEPHONE’ #! frdt ge-wimmr & (A) dw-FiE (Ef)
‘FOPIQFMFU’ ferar wmen ¥ & <&t gz—smar (B) fafdim
# ‘MYSORE’ &1 %Q feran s ? Q) I
g (3erEEs AT
(A~ FSPTZN (B) FSPZIN- Eg)) ﬁ%gg il (3 :
(C) NFSPZT (D) NZTPSF
E dsstion fiot atisnsied / qe | 03 Which is the first ever arch dam in Indi
E Q Aieenpled | ST 73 (A) Bhakra Nangal Dam
(B) Mahabali Dam
61 Anyj is trying to transfer money to an agency © Id,ukkl Dam
from his bank. On trying multiple times, (D) H1rak1‘1d D
connection to the bank failed. Because of (E)  Question n§0t a;[t er%p_:[[ed s
the financial transactions, certain cookies G A el . QT? | R
helps to terminate the session where there is ‘ (A) vl e |
a time-out. These cookies are known as (B) "g‘aahf‘w
cookies. (©) w3f% ara
) _ e (D) @gs sy
S B) Authenticat
(A) Session (B) Authentication E) omafe 5o
(C) e-banking (D) e-commerce A
(E) Question not attempted 64  Solid State Memory Sticks are conm}lm;
s _ ) used in our day to day life. They are availd®
aﬁ_" i & @ fondit aoter | a{;;u' AT &t in various storage sizes. Identify th'e devi¢
T ¥ aR-AT FA & AN 9F F B (A) Compact Drive(B) Pen Drives
9z A W @ ¢ i @ % ERw, gm (C) Printer (D) Cache
TS T F A B HOAEE HA € ST (E) Question not attempted S
ama-dm fifaa 9 31 A g mﬁaﬁwmmmw%ﬁifm
FEdd £ & ¥ 7 b gmar aw T
(A) Qg (G) (B) v ZZT %,' T U '35‘}“ 47 g5
L o gra (B
(c) F-4fdm (D) % O firex (D) %ﬂl
(E) ergafid ued (E)  erpaia g
. o .ontd
23INAS-1 ] ) Page 12 0f32 e



t
, 85 Which of the expression correctly deﬁ11cs

S the statement? )
2 ) ot R e @ AT Fr E 7
Check whether the values of 3 variables
agel, age2 and age3 are equal to cach other.
Sty w¢ R6 3 =X agel, age2 T age3 &1 |7

? TH @y & aEn ¥
i (A) agel == age2 and age2 == age3
; (B) agel ! = age2 ! = age3

(C) agel = age2 and age2 = age3

Y (D), agel = age2 = age3
(E) Question not attempted / SRRIEGRCER]
is mechanism by which one class

' acquires the properties - data fields and
methods of another class,
(A) Encapsulation QBT Inheritance
(C) Polymorphism (D) Class
(E) Question not attempted

T wihar & Raad & Th ot gE
it @ Rgwad — srer & ot fafy @l wew
HIT E -
(A) HgeT (B) ergaifis

ﬁ%‘ eIl (D) =i ()
(BE) omaia ged

67 Pen drive is one of the most popularly used
device and can be used in port.

3 2759 T dea Al A F R W

(B) UBS
(D) SSD
(E) Question not attempted / SIgaia 997

Madhu cycled 5 km south wards, turned right
and cycled 6 km and then turned right, cycled
5 km. Again turned right and cycled 7 km.
How far is she from the starting point?

®

(A) 1km (B) 11 km~"
(C) 13 km (D) 23 km
(E) Question not attempted

‘ gy 5 faedier afaor @ ot wE@a dard ¥
; T 6T S1o =14 geart 6 fheriet ST &, ofit
' foF &1UA 210 geant 5 fnaniet 9l 81 9e f6e
ST &1 Yedt 7 feidiet oTdr & | o/ 98 3t
l qEATdl fag @ fra g &7

(A) 1 Frenirer 11 frandet
i (C) 13 fariier (D) 23 freiniex

(E) ergdf wga

' 23INAS-1] O

69

70

71
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) o o
Convert the fractional number 0.10111
decimal. Choose the correct answer:

Rt e 0.1011 @ ot @@ o |

e AT g |
(A) 0.6875 (B) 0.6900
(C) 6900 (D) 6875

(E) Question not attempted / argafd 9T

Which amongst the following is qualitative

data?

(A) Gender

(B) Eye color

(C) Age groups

(D) Size of household

(E) Question not attempted

T & P e G o ¥ 7
(A) fef

(B). sr@i & T

(C) uu T

(D) U I STHR

(E) ergart e

Can we create an mp4 file of a PowerPoint
presentation?

(A) We can create only mp3 file.
(B) We can create only animation.
(C) We can create an mp4 file.
(D) We can create only slides.

(E) Question not attempted ,
z:;;?qm'alsz TS B mpd e gy
(A) WWI]IP3WWHH?&%|

(B) & Faet el (qfriem) e wey ¥
(C) &1 mp4 WIEd &1 o ¥

(D) & HAT WITS I why ¥

() orgaia vt

[ Contd...
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74

y arqey, fefea

While transmission of data from a sender to
receiver using Modem on Internct, the data
is first converted to _ from _
A Analog, Digital

(B) Digital, Analog

(C) Digital, Digital

(D)  Analog. Analog,

()  Question not attempted

Yo A WA q® S BT WK FECE T
Hew ¥ w0 o & frad st g

q A yafaa exar ¥

(B) ffoea, srgew
(C) Bfwea, i
(D)  arged, TgEd
(E) oraia wed

Relational operators are accessed by ALU
which gives maximum of possible

outputs.

e whmar & ALU &R sifuga R st ¥
S efrman - ©va Bold yee & g
(A 1 @B 2

(C) 3 (D) 0

(E) Question "r}ét attempted / STFART T

Which MLA was given the best MLA of the
year 2023 award by the Rajasthan Assembly
on 20 March, 2023?

(A) Ameen Khan

(B) Anita Bhadel

(C) Kailash Chandra

(D) Ganesh Ghoghru

(E) Question not attempted

20 71 2023 @1, fra faumas &, toras fqam
ayr E, gatad fgumad @ grEr foan wn ?
(A S @H

(B)  erar wad

(C)  FHenr a7

(D) g MuE

()  erafa ug

23INAS-1] O
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Dev is working on an Excel Sheet. He eny
a formula as shown in the figure given belq

125
\ =Sum (SA1:SAY

He copies the same formula in rest of 1
(Nine) rows. What will be the output?

(A) Excel will display different output
each formula.

(B) Formula is wrong.

(C) Error will be displayed.

(D) Excel will display the same output

each formula in each row.
(E) Question not attempted 77
g Excel &ﬁz_ﬁtmm%lﬂgﬁmm‘
¥ w g oifed wE E -

|1 | 125
NEE \ | [=Sum (SAL:SA
Bl LT 1|
ettt b 7
AT
T

T T@ G A qw 9 () o B

BT | IMITYE AT By 2

(AL Excclm@%mmwmm
T

(B)J‘ﬁ?w%lk

(©)3f (Error) frarfit 4 A

(‘9 Excel @il ufai ¥ w@E @9
I ey Rramem <

(B)  srpaia wea

(o


https://telegram.me/resultrajasthan

76

747

78

23INAS-1] O

Operating system allows the file system to -

(A) Create, Access, Maintain a directory
and protection of file  from
unauthorised access.

(B) Change the extension of the file.

(C) Transferring files from one computer
to another.

(D) Rearrange the characters of the files.

(E) Question not attempted

HIT & —
Waﬁw‘&mﬁfﬁw,mﬁmﬂ?ﬂwm
TAT WISA bl ST ST F T
BEA & TEEEYH B FEEHT | X

BIEA & Th HgeX & G bgel o
[RIEIREC T :
HIES % 0T & SR X G 67 H A

ATANRT U

How many total medals, India won'in the
Asian Games - 2023?
wiEE @d — 2023 ¥ YRA 7 FA fhad q&h

(B)
©

(D)
(E)

(F=d) wra fpu ?
(A) 109 ' (B) 105
& 107 (D) 112

(E) Question not attempted / TgARA 9e

During May 2017, a very popular malware
infected almost 2 lakh computers around the

world. It demanded payments in Bitcoin
crypto currency. It made its victims cry. It is
known as .
(A) Baby Cry (B) Crypto Cry

(C) Node Cry (D) Wanna Cry

(E) Question not attempted

T2 2017 % 20, U% 4EE FIhd AIEady 3 g1
fasa § wrqy 2 @ Gzl @ dmid foan ae
ferz—aaré=y fopey @t § WA AT TE a1 g
T fiered] oy el 59 AR Sy

(A)—adi g (B) fwet ard
(C) iz mré (D) ar= @rd
(E) orgafea s

@ A, B, C, D and E are seated around a circular

80

81

Page 15 of 32

*C) A

table facing centre.

D is between A and E, C is between B and
E in clockwise direction. Who is on
immediate left of B?

A, B, C, D sl E gvft u i &1 9T, R
% AE YE Hh, o G 48 B

D, At E% drad da1 %, C, B oft E % 419
¥ udt &1 gf o faom F Aer %1 @ B % frepea
il T der 32
(A) D (B) E
(D) C
(E) Question not attempted / &rgafia 91

is a complete software of a third

- party that is installed on the host computer

and can be used by the browser for multiple
functionalities.
(A) Add on (B) Plug-in
(C) Extension (D) Firewall
(E) Question not attempted

Th ¥ Ut &1 €Yo Hiveaa & g
B HYX § STAT WA & 99T 3§ Sewl &
I fear srar @ e fafv= feareemat &
Ty fepar T @

(A) Ts & @B ==
(C) umaearL (D) wrtETg

(E) orgaid wed

Four sets of numbers have been given below:.
Out of which, three are alike in some manner
while fourth is different. Choose the odd
one.

N we A weaslt & O wyeqy ¥ ) frw | 9
aeddl W B I &, wuin dhar wyea 3
ad o ¢ M wey @y s @y

W (5.9 99) (B) (3,9, 90)
(€) (7,8, 113) (D) (6, 8, 100)
() Question not attempted / srgafta wem
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User defined functions in C are written using
the keyword .

C ¥ SugTehdl T S b H—
o @ 7eE | e W #

(A) Define B) def

(C) Def (D) define

(E) Question not attempted / rgaId H&

82

83 ié a standard machine language into

which Java source is compiled.
(A) Object Oriented

(B) Bytecode

(C) Assembly

(D) Interpreter

®)

Question not attempted

_’@mqsﬁww%ﬁ{ﬁwaﬁa
P Hebied fpar T ¥

(A) i oifde (v smefa) v
(B). Tz

(©) wdEe

(D) $eTex (gwnfiram) -

(E) ormgafa e

fact (N) ¥
if (N equals 0)
Return 1
else &
Return N * fact (N - 1)

The above algorithm is a specific example -
of

(A) Sorting ~ (B) Recursion
(C) Displacement (D) Selection
(BE) Question not attempted

gl
A) ’&T?ﬂ (B) Wﬁﬁh\/
©) ﬁwm (D) T
(B) Sgai@ wed
23INAS-1] O
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y Without an IDE, a developer has to select

deploy, integrate and manage all of them

aphi Separately
A Graphlcally B) :
Eci None of these (D) Virtually
(E) Question not attempted =

Wﬁammméﬁ_wm

TedT Tl
Z{;maﬁﬁsa (B) mﬁ%g
©) = @ @ Al (D) S
(B) orgafea 9T

Following steps are followed:for a progray

86 ol : ’
written in a high level 1a:qguage by

uter - (o .
iomp The program is compiled into obje
rogram. - .
2 Iéource program is rea(_:l_\-fmd loaded
memory. e\ |

3. Compiler reads the program loaded;

memory.

4.  Machine language routines for readi
and writing data. - o
5. Compiler may be removed fra
. memory. ol
LT X TH W T e Ty Hrn ¥ fe
BRmami- o C
L. T v sieiee wom ¥ wufed ol
2. o s AW ¥ Wt R T
TAT UG A1 3 Pt
3. duew, W ¥ Rew o, @ v

4. A9 ww Pt w0 Y ser @ w0 8s

e & a3, N i
STEh B AR A arer T o
Choose the answer with conéct sequencel'
steps from the options given.below:

I R T e & o 3 iy g A
BT
K

5,4,3. 2
(B) 3,2, 1,4’
©) 4 5,1,2
©) 2
(E)

3

’3’1’435

87

The total teachers ina s
wise distribution has b
chart. Study the pie-chi
questions that follow fi
T # 37 6,000 sreara
e e Ry & Rearan
2 oY got & Faw 1 (.

Percentage W
Teach

21%

District-D
15%

How many teac
move to district
have the same n

fora aremas R
o5 3 Rt % &
(A) 660
©) 840
(E)

Question

The difference o
of district C and
of distrct D will

I T C % are
D & areamasst ot
2T Rl % arem
(A) 720

©) 660

(E) Question

Question not attempte:gi__—/Gﬂﬁﬁcd 23INAS-11 O



The total teachers in a state are 6000. Their district-

wise distribution has been shown in the given pie--

chart. Study the pie-chart carefully and answer the
questions that follow from (Q- Nos. 87 - 90).

T 7 gt 6,000, areaes &1 37 I BT FTarTe e
A% e sy % Fearar 1 & | TEAIE BTG
78 oiiT gewl & g &1 (e e 87 - 90)

Percentage Wisé Distribution of
Teachers in 6 Districts

87 How many teachers from district C should
move to district F so that both the districts
have the same number of teachers?
ferer aremmus Rt C & Ryt F & 9t wnd, forad
R QY Rreil 3 Tt ot Hea axTE @ o ?
(A) 660 (B) 960
(C) 840 (D) 1020
(E) Question not attempted / STFANRT W8T

ih
88 Thedifference of ﬁﬁce the number of teachers
of district C and thrice the number of teachers
of distrct D will be?
afx Rt C % sremaast < wrear @ g ol Ry
D & arearaest ot Feat bt d AT BT s &

(A) 720 =+ (B) 840
(C) 660 L (D) 960

(E) Question not attempted / STFART W9

89

90

91

Ratio of the number of teachers in disctrict ﬁ
to the number of teachers in district B W!
be-

Ryt C i Rt B 3 sreemaast 21 e o1 ST
FIEM? =

(A) 6:4 B) 7:4

©) 4:7 (D) 5:4

(E) Question not attempted / STIART F7

133400

Ratio of the number of teachers in district E
and D to the number of teachers in district B,
A and F will'be -

ﬁaﬁEeﬂTD%mﬁmaﬂTﬁﬁB A

@TF%&W&%W&WW@W
Xy 2:3 O (B) 3:2
(C) 3:4 D) 1:1

(E) Questlon not attempted / STTART 9T

4R

""_l» A

Binary filefi‘(:ontains machine readable
characters in- and format.

(A) * Alphabets and Numbers

(B) Special characters anvaumbers
© Alphabets 'and Special characters
o 1,0

(¢ Questibin“ not attempted

ool IR A BT T Y i
(A) e, e |

(B) fafire Frsrcﬂw qen g

(C) & agr_ﬁrfknz SERIEH

o L0 ;:E,‘

(E) aﬂﬁﬁﬁ S E3 |

Fq
]

23INAS-11 O Page 17 of 32 : ' [ Contd...
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92

tatement
Joop of C program, ' .ns < i
¥n ; cdiately exits a 1oop, skipping
H?Itr}lle body of the loop. e
: o & @ A o, @ § I
C'W“R‘E' #r & o1 S @@ @ 95 I E
(A) else (B) continue
if
break (D) i
(g Question not attempted / Iana wed
93 In the diagram given below :

®

®  indicates process.

(A) Input (B) Repetetion
(©) Process (D) Output

(E) Question not attempted
& g i g

94
‘tizmg:
A
Ly D 5w
23INAS-1] O b
Page 13

95 InMS-DOS. When powerp,
Y

does the following task¢

1. Rest of OS is pyj, -

2. Small portion of g -
loader \

3. Stores it in main Mep,

4. Loads it into the Maip e

5. Self - Test ‘

MS-DOS & w9 ﬁvﬁﬁaﬂﬁaw

¥ o BIOS = & e i
L & wh OS & T gy,

3¢ OS & B A G Gy o,
3 W ge A ¥ Wy gy
4. 8 q& WHA § w0 A
5, @@ it
Choose the answer with correct
tasks from the options given bely

e T Tq et ¥ @ @t B wiE
Ww?fﬁﬁﬂ'q:

(A) 2,5,3,4, 1

B) 52,413
2,351, 4

D) 5,4,2 3 1

(E)  Question not attempted /&
SN

99

9% If “Barth> jq called ‘Water’, ‘Wall

Sky’. *Sky’ is called ‘Land’ and
called ‘Roof’, Then where would’
Land (B) Wate
©) Roof (D) Sky
(E) Question not attempted

BEE



97

98

99

23INAS-1]7 O

The 2021 census of India is its 16t census.
In which year did the first census in India
take place?

2021 ﬁmﬂwwﬁaﬁ@ﬂ%‘cﬁmﬁ%l
T A T ¥ Wi @ eel SO gE e
(A) 1950 L (B) 1856

(C) 1962 (D) 1872

(E) Question not attempted / STIANG 99

The keyboard of an operating
system uses a fixed QWERTY key layout.
This can be exploited by keylogger but are
still safe than normal keyboard hardware.
(A) Online virttylazl; (B) Software

(C) Semi-soft ~ (D) On screen

(E) Question ndtyfﬁattempted

el ST faew & B are’ fafvaa
QWERTY fo=ame @r 9T et & | 38 4 af &l
AR &R qHEE YgaEl W ghdl 8, g I8
ST B < T o g A aiferes gRh
] S
(A) offFaTET oTHTEr (B)  |iwesa
(©) gz -~ (D) ot BH
(E) orgar@ 997 -

Which option can replace ‘? : 2” from given
relation? e :
Temperature : Thermometer :: 7.1 ?

(A) Length : Scale

(B) Bank : Money

(C) Height : Barometer

(D) Water : Milk

(E) Question not attempted

&l T g # ugaee faet & wE w R
STTM ? T B

AYEE a7 7

(A) & : AgE <

B) ¥ : oo

(C) V3« ergaraem

(D) UM : iﬁ"-r’

(E) orgafe ue

100  Given below is a statement followe

Page 19 of 32

d by two

t
courses of action I and II. Assume statemell

to be true and decide which of the suggeste

courses of action should follow :-

Statement : .

One of the students in school is behaving

very rudely with other students, even

physically hurting them.

Courses of action :

. Student should be expelled from the

, school.

II.  Counsellor in school can have sessions
with that student to understand and
change his behaviour.

Give answer -

(A) If1I course of action is to be followed.

(B) IfIand II'both courses of action are t0
be followed. _

(C) If none of the courses of action is to
be followed.

(D) IfI course of action is to be followed.

(E) Question not attempted

4w wom T man ¥ fred qvE @ feand

I X 1L & 7€ ¥ 1 e & g A i ot &

6 gae T wEl § ¥ feE @1 SgETer s

w0

fererrera &1 e fened, st R % @ w5q

FHIR AIER BT TET & AR ST |1 FX—qre Y

BT T & -

FHEE it

I fondt o e & Presi e o i)
I, frendt ¥, @@ ST & 9, X 5
aifey aife a6 R @ T W e
IG%h AIER N AT @ & |
gaY AT -
JA)- afk ot 1 @1 9 s ¥
(B) afk wriarel 1 o 11 & &1 wrew sy &)
(C) afx forer o wrdar® &1 e T w3
(D) afy wrfEwEl 1 &1 9 e §)

(B) oraRd wed
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102

101 The cost of 4 shirts and 2 pants is 3,000.

Find the cost of 6 shirts and 3 pants (in )7
aft 4 w9 i 2 ¥z @ Fwma T 3,000 F,
6 FHT & 3 Yz B P (X F) @1 7

(A) 5,500 By 4.500
(©) 4,200 (D) 3,800
(E) Question not attempted / Sgaid 487

Public class Person
String name
String Telephone
String email
// class methods
initialise( )
// code for initialise
Public Print( )
Public Name Getname( )
return Name
Public String Getemail( )
: return email
Public String Gettelephone( )
return Telephone
What will be access specifier of the field of
the above class?
(A) Private (B) Public-private
(C) None of these (D) Public

Decimal, Decimal

Binary, Binary
Decimal, Binary

Question not attempted

E)
24 qrar T RRATT R
& qeery % forg AT ST E

(A) framerd, TeEAd
(B) gemed, SO
(C) fremard, fasmard
Dy~ =, EEIRIEY
(E) ogaia we

(E) Question not attempted 105 is a network security sys
- T % e R Rl T s designed to protect a trusted private netv
@A) B X (B)Nardere-frh from an untrusted outside network to w
©€) v A5 7 D) dw Vv 1t 1s connected,
(E) ogar@ weA .
(A)  Cookies (B) Firewall
103 is an example of impact printers. ©) s .
(A) Inkjet printer ) SsL (D) Bridge
(B) Deskjet printer E)  Quest '
(C) Dot matrix printer =stion not attempted
(D) Laser printer e
(E)  Question not attempted ?ﬁ;?;};_;% eadh TU& gorer ﬁfﬁﬁ
- ' & F
B) @ fiere “ RS f smmar mn %
(C) =T A firx ) T B) s
G R e o © g5 RECI
(E) omgmia wew D) fret o
' (E)
‘ ENEITG
23INAS-1] O Pago 20 013 T R
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106 Sumati has to calculate the average of a range

of cells of a spread sheet. She has to display
the average of each row and sum of each
column. She also has to display the average
of all the rows and columns. Consider the
range of cells from A1 to H100. Identify the
correct answer which can be used by her.

(A) for rows = Average (Al : HI) :l
for columns = Sum (Al : A100)
Copy to all rows and column

B for rows = Sum (Al : H1)
®) for columns = Average (Al : H100)

Copy to all rows and column

©) for rows = Average (Al : A100)
for columns = Average (Al : H1)

Copy to all rows and column and
use it for the entire sheet.

for rows = Average (Al ; A100)
(D) [for columns = Sum (Al : H1) :l
for all rows & columns = average (Al : H100)
, Copy to all rows and column
(E) Question not attempted
I & & ke oS e ¥ fafeq aa @1 ofa
e ¥1 S8 @ uRkm @1 elga qum @l
T &1 9T @ 818 Al ¥ H100 93 e
%L | IS S0 TG Tl I UEaH | '
A) [w’ﬁﬁé:ﬁm=aﬁaa(Al :Hl)]
ww % frg = am (Al : A100)
T Yl gg @it & copy &T
(B) [m%fmw’m(/\l :H1) ]
®w ¥ frg = o (A1 : H100) [
wv o ud Wil ¥ copy wOm
tfra & fag = offwa (A tA100) |
© [masf%-zq=eﬁaa(m :HI1) ] S

v bl T W A copy @
Al vyt sfe % v sagi s
4 % fow = af|a (A1 : A100)
(D) |wmfg =am (A1: H1) ~
T il i w & g = offma (Al : H100)
T il od =i A copy @
(B) ogaRa we
23INAS-1] O
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107 Given below is a statement followed by tWO

assumptions I and II. You have to consider

the statement and decide which of the

assumptions is imp]iéit from the statement-

Statement :

‘BURBURRY” brand purses are for the rich.

Assumption :

I Many people like to be labelled rich.

II.  One is not rich if he/she does not have
the purse of that brand.

Give answer - '

(A) If only assumption II is implicit.

(B) If neither of the assumptions I or Il is
implicit.

(C) If both the assumptions I and II are
implicit.

(D) If only assumption I is implicit.

(E) Question not attempted

R e wow Rar m ¥ frad 9 3 areng

I & IT & 78 ¥ ofmuent ®ee 9 foa & 3§

st fofg @ & o6 @& & aroom wew A

stafifed 2

&Y

‘BURBURRY’ 5ife % T &t @i & forg #)

4R ‘

L @ W e e e aRd ¥

I afk el & I 39 s &1 9 T2 ¥ o
55 =i ot L B

IR AT — '

(A) FHae g 11 517 7

(B) & gwen I &R 7 & I Ar=q )

(C) & greomd I qen I /g ¥)

(D) e arem 1 °e zl

(E) ofgafa us

108 Justice Augustine George Masih has become

the  Chief Justice of Rajasthan

High Court.

Rl o WSt wE, T e %
¥ geg Ty =

(A) 40 By 4l
(C) 42 (D) 43

(E) Question not attempted / srgaRia weT

[ Contd...



109  signals are discrete and generated
by digital modulations.

(A) Digital
(C) Bandwidth -
&)

(B) Noise
(BY" Analog

Question not attempted

Ry ordaa ¥ qu od fEtREd
whreqer & W<t fear s
& oo (B) 9T
(©) def Py
(B) ogand wsd

110 Four persons meet at a party. Each of them
shakes hands with every other person. How
many hand shakes are in total?

o st T T § e g & e ¥ el d

Tf wfR e T wh & Ty fed ¥

fpa X w1y T @ e

A) 12 UB) 6

(©) 5 (D) 10

(E) Question not attempted / SR 5
111 T ama memorryt device. 1 am composed of

transistors and capacitors. I am able to access
the data fast. 'Who am I?

(A) Static RAM
(B) Dynamic, RAM
(C) Static ROM
(D) Dynamic'ROM
(E) Question not attempted
e T F 1 B e O ST bl T BT Hehdl
E1H & E 7

NG @fgs RAM |
®) ke RAM v

following is not
ich of the A\,
112, Whi¢ U

.rator? |
;:;r'goﬁ o it TEEE T ¥
) AND (B) OR
© NOT JX{) Check

(E) Question not ‘attempted / Wity

. & e
ange the following words in alphg,
113 lzrrcrlerf’which word will come in the

a1 o " H oamm?
ANUJ, ANKIT, ASHISH, BABY, By,
(A) ASHISHA ©(B) BABY
(C) BUSY (D) ANKIT
(E) Question not attempted / 3G,y

114 Development tools-‘,_li;ke text editors, g
libraries, compilers and testing platform,
available in a ' framework of I
(A) Different (B) Single

(C) None of these . (D) Multiple
E) Question not?éttempted

T A TREm e, IDE§
e ¥ Ao el B ‘
A) R B T
©) = ¥+ (D) T
(E) . srgai@ s

1 oy i
S If+ means X, X means —, + meaﬂSH.

means -+, then which of the followinz?
the result of ;

225 =+ 254+ 4 x 10— 5 % 20
uﬁ:'{‘qﬁ'x’xﬁ_,'T_ca_‘_@_{‘ﬁ%-

{
L]

(C) w@fktw ROM 225 £ 25+ 4 x10—5x20 @
(D) i ROM (A) 10 LBy 303
(E) omera ae © 250 (D) 1700
O & (E) Question not i\ttempted/
23INAS-1] Page 22 of j
of32 MENUD W e \;_ ~R2 [CO
\se° -

Qmmxb\ﬁxo 5 20
e LS Ko
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116 Read the algorithm and identify the type of
sorting used in it.

Set A=0
WHILE
find the smallet unsorted item

Swap first unsorted item with the smallest

(not sorted yet)

Set Ato A+1
(A) Insertion (B) Selection
(C) Bubble (D) Binary

(E) Question not attempted

| T B 5 e g fr S o o
B3 BT IUANT g & 7

JTA=0

WHILE (e 7 Berg e )
qE BT R ST A smEen W wX)
TS B T A A + 1 5R7 wuw REr 82 9
MZH Bl WY (STEAT—sga) B

(A) wife (B)

(C) gagem (D) faememrd

®

BESE

117 Every OS has a which permanently
resides in the main memory of the computer
to perform some of the basic functions.
(A) Kernel (B) Hardware
(C) Node (D) Centre
(E) Question not attempted
YAE OS ¥ U gl & W ey oy kel
T F Raa <@ ¥ qOT 38 IR @ @y
& & fiu wem B B
N (B) ®rEam
©€) - (D) &=
(B) orgafa uew

23INAS-1] O

Page 23 £ 32

118 The Mer system has a base of

ST STl He vy F sme A s !
& 8 (B) 16

<C 4 (D) 10

(E)  Question not attempted / srgaitd 997

119 Ram is the father of Mala and Rakesh is the

son of Sheela. Vijay is the brother of Ram.
If Mala is the sister of Rakesh, how is Sheela

related to Vijay?
(A) Mother (B) Aunt
(C) Sister-in-law (D) Sister
(E) Question not attempted

w,w‘mﬁm%aﬂ'(wsns‘hmméa%l
faerg, I &1 wiE ¥ AR A, ey @ 959 3,
ar o, faora & @ gig @d ¥ 2

(A) = (B) =

Oy wmh (D) =&
(E) orgafa v

120 Who is the first Lokayukta of Rajasthan?
(A) M.L.Joshi (B) K.S. Sidhu
(C) 1 D.Dua (D) D. P. Gupta
(E) Question not attempted
TR 1 Tl B DI & 7
(/) . T s (B) & wa. Ry
(C) om. &gem (D) @O Taw
(E) orgaftd wes
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is a memo
a1 memorY ' v mana%em
by 122/ Vit here - \
121 You are given below a question followed by 4 1 7 w

tatements I and 11 technid"® dary memory i
two staten . . ondar; Oory 1s
You have to decide whether the data prOVld‘l-‘d Only sec ' Useq
inlt(:;iiitlz]ltement is/are sufficient to answer the “®) Sccondary memory can be Usey,
U . {
((l)ucstion s ) ) main mcmoq.
A man standing on the bank of a river 0bserves er. is restrict
that the angle subtended by a tree on the %Data trime e ed belv;Q
opposite bank is 60°. When he moves away ) main memory.an secondary Mep,
from the bank, he l'mds the change in angle. ) b 3
Find the breadth of the river. Main memory can be Useq |
Statement : ' (D) condary memory. :
I.  Thechanged angle is found to be of 30°. s€
II. He noticed that when he moved Question notattempted
40 m away from the bank, tree SL.lblendS (E) o~ .
Answg?f angle on other side of the river. & AErd Th ﬁtﬁ’f’ 1 T TEEH TS 3
(A) Ifdatain statement Il alone is sufficient (A) FHad facirares T &1 T feg
to answer the question. L2
(B) If data in both the statements I & 1I gl
together are necessary to answer the o e 5
question. 5 3 B) fiias %5 ! @ T
(C) If data in both the statements I & II RpaT S Gl B
toget}}er are not sufficient to answer the P
question. : (C) STI &1 WHeT a1 e fidms =
(D) Ifdatain statemiént I alone is sufficient % & R 3 i
to answer the question. .(i_-‘l-.«l-E._(“ ‘
(E) Question not attempted b s |
ST A T W9 i TEh a1 & we [ofe 1 D) ger Tl A & i
T4 Q& | 19aht % 7 T e fn e o R e s ¥
AT ST YT BT ST & & g waley ¥ oar i ¢ :
L EE fid .

A (E) ermta we
T et @1 uw <af e ¥ 6w ga g ,
T % TEL BT T60° H B0 a9t 2| RER
drE1 X 9 WX 34 9 e ¥ 6 5 v § afeg | 123
3T %, T % dre T B

L =ae gan &7 30° &1 &)
L =fert w7 femre & 40 Wzt g s & v g

The five rings of the Olympic symbl

five different colours. They are Red. O
Yellow, Blue and:--

ET0 A1 % g8 BT I 30° &l B0 e & &) Violet e‘ (B) Orange
Ry et L e O Black (D) Indie
. | AT BT U9 Y
ST A & forg e ¥ (E) Questio g
_B) a3 we w v 3% ¥ forg e 1 s 1) s Sl g
AT & fear T eren aify smagag ) . Rt & 5 9y 5 aam i 81
(©) 3% % 1 st 1 i  foar e e, g T, 5, v, St i al
©) T B & g
e & BT 9T T TT 3 el
¥
& for i & v © | J‘V(B)‘
A ugw Ear (D)
' B) 4 5
e Page 24 o3, R
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The smallest 6-digit number exactly divisible

=

by 201 is - =
UzﬁﬁaﬁmﬁﬁaﬁwmﬁﬁﬁﬁBOl
q ot W ¥ -

(A) 100098 4" (B) 100089 -

(©)" 100299 - (D) 1005004
(E) Question not attempted / ARG W

There are certain_number of benches in a
class. If 4 student§3sit on one bench then
1 bench remains unoccupied. If 3 students
sit on one bench-then 23 students remain
standing in the class. Find the number of
students in the class?

% HEl A $B 99 ¢ 1A vl 99 1w 4 fereneft
T @, 1 ¥u Tl & o AR vdE 9 W
3 faenf¥at @1 fyomn g & 23 femeft wem &
T T W ¥ | Be X g et @ g s

125

H | =5

AT T8 S ® 104
(C) 110 (D) 48
(E) Question hcifattempted /At 99T
The greatest poé;s‘;blé length which can
measure 80 meter-64 cm and 96 meter.
(A) 960cm . (B) 840 em
(C) 480 cm ' (D) 384 cm
(E) Question novt‘attempted

aE i Wit s 80 Wex 64 oy,
T 96 AT F1 T B oW "y ¥

(A 960 @A (B) 840 A
(C) 480 &4, (D) 384 4.,
(E) orgafa ugw

23INAS-1]7 O
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127 Find the missing number -

OTSIIT HEAT B 4 -

417 (12 18
212056 (156 ¢
(A) 188 (B) 342
(C) 472 (D) 215
(E)  Question not attempted / argafta 797

128 Which of the following is used while
working on Togch pad?

(A) Pencil (B) Stylus

(C) Gloves - (D) Finger

(E) Question n“ot attempted

zatts W aR w e & @ Praa s

fpan ST B _
&) ¥Ww o UBY wEEE
(C) ==’ 0 (D) ST

(B) orgafa st

Two numbers are in the ratio of 12 : 13, If
their H.C.F. is 11, then the numbers are -

(A) 121 and 169 (B) 132 and 143
(C) 121 and 144 (D)
(E) Question not attempted

2 el @& U 12 : 13 ¥ aft St wewy
W%, QA HEd s wifi)

(A). 12181169  (B) 132 aix 143
(©) 121 T 144 (D) 144 ah 169

144 and 169

(E) orgaftd ued
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130 Data protection is very essential in today’s

digital age where millions of data‘is created
and are illegally used by some. In order to

protect data, grants legal rights to
creators for their original work.

(A) Copyright (B) Trademark

(C) Licensing (D) 1PR

(E) Question not attempted .

ot & RV I ¥ srer geen dee wedt & ot
Pl e & qor 5@ o @it &

Praforerat
B sfusr 3ar 3
HIAET (B) = 9%
©) wrzafET (D) IPR
(E) aiE wew

Six boys A, B,C,D,Eand F were born on

the same day but in different years during a
span of six years. A

A is older than C '

B is older than both D and E

F is 2 years older than D

A was born either in 1952 or in 1953

The oldest member of the group was
born in 1950

If F is the oldest of the group,
the correct statement -

(A) A was born in 1952

(B) D was born in 1951

(C) B was born in 1951

(D) C was born in 1954

(E) Question not attempted

B ®e% A, B, C, D, E 3R F 9 &7 w1y

T
éﬁﬁm%,qﬁmw%maﬂaémh
AT T

L. A Caasr i

2. B,D &R E 3R § wer ¥

3. E D@2 adqer ¥

4. AT ad 1952 4, a1 fi 1953 ¥
R A

5. WEH wE gEw 1950 A we

wﬁFwﬁmﬁm%a’rHﬁtﬁuﬂmﬁm

(A) A @1 5 1952 % gam «n)

(B) D= st 1951 % zon o)

(© Bt stw 1951 # ganr ey

D) C o w 1954 % gam an)

(E)  smaf gy

Gy B, a0 b

then identify

23INAS-1] O

given below a qQuestigp

il fol)
re ‘ 0
132, Yo! ata'ltementS Lt iR, =, "
0

. , !
4, statement is/are sufficiep té’m
int

&
the question:

tion : ;
\%l;:Zh day of the week is on 3 Ogy

tement : .
ISta First Sunday of this mong, g,

October. ‘
. Year for the given date ig 2001
Answer -

(A) If data in statement II' alone s g
to answer the question,

If data in both the statemep,
together are necessary to gy,
question.

If data in both the statemen
together are not sufficient to
the question.

If data in statement I alone is sy
to answer the question.

(E) Question not attempted
A T T weT T wep qE T T
gﬁ«"{ T ¥ SR TE A

TN ST Ut T wee 3 F B
1 7EY ?

LEE

izq%ﬂﬁmmﬁ?mﬁﬂw?

L

1w e <R | o
» a’lé%ﬁ:anaﬁzoﬂ%t

) g%:ﬁﬁ BT 11 Fory 7 @
% fiq wafa 31
wmgﬁwwmﬁ%mml
ﬁﬁ”ﬁ-{“ L g— \.ﬂﬁ{‘maﬁﬂf
B 1 i 11 vy o e 5

(B)
- (©)

(D) -

(€

g



133 'Which number belongs to all the geometrical
figures?

B & wem o i s Rl @ ddu ¥

//X\
— /
' ~ 9 10

A) 3 B) 6

NC D) 3
(E)  Question not attempted / rafE 9gT

7

134 IDE suite consolidates basic tools require to
write and - software.
(A) Test ' (B) Design
(C) Delete (D) Play
(E)  Question not attempted
IDE Suite arwJax fae qan % forg
AT AT TYBTN o qARGT BT B
(A) T (St BT) IEIEE R
(C) feie (Brerm) (D) < (ae)
(E) ergaita wed
135 Which geométrical figure represents for
Input/Output operation of an algorithm?
(A) Circle
(B) Rectangle
(C) Parallelogram
(D) Diagonal
(E) Question not attempted
el TErifeas # 3M9e-aMeeye W 2 ¥ fig
frm warfada empfa @1 wanT gar &7
(A) 7d
By wmEd
(C) wHiT Ty
(D) faavi
(E) orgafta wew
23INAS-1] O

136 —_isthe separation of the logical view

of data from ijtg implementation.
(A) Data Abstraction
(B) Testing
(&) Initialisation
(D)  Control Structure
(E)  Question not attempted
w121 % Al gt o s fwaraa
A yoET |
_(A) == yummy
(B)  wdiemr
(©) st
(D) fr=or wiemn
(E)  srgafa we

@The Binary search algorithm assumes that
the items in the array are and it
either finds the item or eliminates half of
the array with one comparison.

(A) Sorted -(B) Checked
(C) Selected (D) Unsorted

(E) Question not attempted

faemarl @ Teriiftam @8 aman ¥ B =g &
rafterd 3t ¥ TE wT Y T
U T § AT S FE BN GEAT B SR T
T AT ¢ -

(A) =g (B) Sitg fmr .

(©) g (D) e

(E) organa wed

Rashi is twice as old as Sunita. Three years

ago she was three }imes as old as Sunita.
How old is Rashi now?

(A) 8 years (B) 6 years

(C) 7 years (D) 12 years

(E) Question not-attempted

Ty ghar & g Sl ¥ A ol g s
aTrg gAY bl OIrg | T o &) i @ fur

Page 27 op g,

S ESIG| |

(A) 8 ad (B) 6@
(C) 7 ad (D) 12 ad
(B)  orgafe uss
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133 -Which number belongs to all the geometrical

134

135

23INAS-1] O

figures?

A o e a ol s sl @y 7

8 6 A\ 2
— /

b 9 10

@ s 0 ®) 6

L4 D) 3
(E)  Question not attempted / saia we

IDE suite consolidates basic tools require to
write and ~__ software.

(A) Test o (B) Design

(C) Delete i (D) Play

(E) Question _rjot attempted

IDE Suite g9ea@x foras qun CARIY
HAEATH AT SIHTN B TR Tl T
(A) = (S s By feome -

(C) fediie (Brerm) (D) = (=@m)

(E) orgafa 957

Which geomé_txfical figure represents for
Input/Output operation of an algorithm?
(A) Circle
(B) Rectangle
(C) Parallelogram
(D) Diagonal
(E) Question not attempted
ferdl T & 3M9e-oMmeeye & a9 & fyg
fore waTidma emgfar @1 wdiT dar ¥ 2
(A) 99
By
(C) &t Ty
(D) famvi
(E) erqai@ ue

is the separation of the logical view

of data from jtg implementation.
(A) Data Abstraction
(B)  Testing
(C)  Initialisation
(D)  Control Structure
(E)  Question not attempted

A geraam ¥
B Ze gemm

(B) whe

(C) st

(D) =T gvamn

(E) argaf@ uew

The Binary search algorithm assumes that
the items in the array are and it
either finds the item or eliminates half of
the array with one comparison.

(A) Sorted (B) Checked

(C) Selected (D) Unsorted

(E)  Question not attempted

faemard = TErlied a8 Jrar @ 7 =E §

AR THE Y1 9% HE B AT
TAT I ¥ AT A T H AT F SR G
A BT B :

(A) =ifiga S(B) e fear .

(C) g ™™ (D) faiRa
(E) ogana 9e7

Rashi is twice as old as Sunita. Three years

ago she was three times as old as Sunita.
How old is Rashi now?

(A) 8 years - (B) 6 years

(C) 7 years (D) 12 years

(E) Question not attempted

Ry ghrar & g Sw Al &1 A ad g swa
aTrg gAY &t onrg A W o | iy @ e

MY T & | | |
(A) 8 qq - (B) 6ad
() 7 (D) 12 @

(B)  oraite 9e
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139

140

23INAS-11 O

Every NIC Card attached to the node of a
network has a unique MaAC address. This
MAC address is of bit address.
mNICma‘rﬁ;@rm%ﬁsﬁﬂ%%,
o sl MAC ww & 31 98 MAC
4D BT T B 3

(A)

(B) 128
©) 256 9/48
(E)

Question not attempted / ITANT We

Which of the following diagrams best fits

for the given group of elements? Judge,
police, Thief

ﬁwmﬁ@fﬁf@fﬁqu%aaﬁ%ﬁmm
Efrgaaaﬁ@wwa%ﬁﬂql

ey, R, €

o (900
. @

QQO

LAGIOM.

(E) Question not*attempted / argafta waw

©)

141

142

®)

~g

http://WWW.n€ert.nic.in/,

Xt
In . . I
extbook.htm address which is d

. Ony;
me and which web page is requegy,
na . )

.ncert.nic.in/te
http://WWW: 27
textbook.htm @H 3 S
P AT § gafua 27

Xth,
R

el ncert.nic.in

http
3. textbook
4.  textbook.htm

5. WWW

Choose the correct answer from the opti
given below :

T g g Tl & § W& o @
A 2,3 B) 4,5
© 1,4 «Pr 1,5

(E)  Question not attempted / CRNITGH

Identify the gateway for simple Int
connectivity at homes,

(A)
(B)
(©)
(D)

Server

LAN

WAN

Internet Service Provider (1SP)
Question net attempted

T WA iy e g
RRLLCR RN (T=2) F wear|

(o



143 Below is given a statement followed by Sor[r;e 144 Which of the Tollowing oomes ander o
conclusions. Assuming stateme}nt tfo | €| login®?
i i of the '
universally true, decide which . |
conclusions follow from the given statement. 1 Video conferencing

2. Talking on ph
Statement : 5 phome

No cap is socks. Some caps are gloves. 3. Telnet
Conclusion : ® Any PC
L Al gloves are socks. Choose the most appropriate answer from
m Al sk ane gloves the options given below :
III.  Some gloves are caps. (A) Tand2 (B) ~Pnly 3
Give answer - (€) 3and 4 (D) Only 1
(A) If only conclusion II follows. (E)  Question not attempted
(B) If only conclusion III follows. P & foiie wimgs & otata @ omar £ 7
(C) If none of the conclusions I, II, III 1. fafsay sisfg
follows.
2. ®F W 9aEd
(D) If only conclusion I follows.
3. e
(E) Question not attempted
< % B R ¥ ok ww e 3w Preed R | HNEC
T ¥ 1 BYT Bt Feeardt & & W 7Y g Profg A g g frenedt § & w8 SO @ TE SR
? :

BT o5 B a1 Premd g8 3 (A) 112 (B) e 3
YA : . :

JOr 3ud 4 (D) e 1

A U T ¥ o At @ ¥
i — = (E) omaia wew
L [ Bl
L ERIESIE RS e

. N 145 1IDE is basically an environment of tools like
Il & g zwm 2
L. 3o =@ 2ifter ) (A) Deébugger (B) Compiler

ERACLE LA (C) All of these (D) Text Editor
(A) waa 11 fremd 77 2

By Faw NI frad = §)

(E) Question not attempted

IDE Hea: SYHTIN T AT ¥
C): )
(D) :b;;m lIﬁﬁT?{T 1; e =y %l_ (A)- SR (B)  @ugerx
[ : '
(D) a1 fremd == %1 NS R DY e wder
(E) &af@ gga
(B)  orgafa aes :
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146 Ravi and Gaurav are brothers. Divya and

Tanya are sisters. Ravi's son is Tanya’s
brother. How is Gaurav related to Divya?

(A) Brother (B) Grandfather

(©) Uncle (D) Father

(E) Question not attempted

<y 3 e g ¥ e ai aran A 9@ ¥
rﬁmgamwwé%lrﬁwaﬁ?ﬁwmw

(B) =t
(g (D) fm
(E) orgaia usd

147 QR consists of three distinct squares. First

two are on the sides of the top and the last
one is on the .. of the bottom.
(A) Top (B) Right

(C) Center (D) Left -

(E) Question not attempted

QR # & fafa= e % 1 2 & | et &1 HuT

1 goal T aar s A @ e B |
(A) S (B) =m¢

Q). = (D) =g

(E) ergared 9§

Find the missing number.

19T @@ & od Bl

15120 3
7
360 6
72 18
(A) 7560 BT 2160
(C) 4320 (D) 1800

(E) Question not attempted / sigafia Uei

149 wluc

150

's the best software o
I'Q.
a e i
lyna mic W p g
(A) oooglc B Filmor,

() Ruby (D) HMmp

(E) Question not attempted

o o 3 T
et A W EL

(A) T :j ;@ fod
© & P HTML
® o 5T (

Who won the tltle of Mr. Bikana i
International C_lsj;mel Festival - I
organized in Bikaner? '

(A) Rajesh Meepa -
(B) Avinash Smgh 4 -
(C) Ravindra Joshi -

(D) Kamal Siddu

(E) Question not attempted 5
BT & e, g S T
T P R fgam ! 2
(A) g ey -
B) sy ﬁ‘mn
S Rt s 2
(E) Gﬁﬁﬂﬁ'ﬁ-‘ﬂ =
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